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HASIL UJI REGRESI LOGISTIK – ZOMBIE DIVERS
. logit ZOMB SIZE TANG AGE DIVERS if KRISIS==1

Iteration 0:   log likelihood = -383.91846  
Iteration 1:   log likelihood = -348.53129  
Iteration 2:   log likelihood = -348.25048  
Iteration 3:   log likelihood =  -348.2504  
Iteration 4:   log likelihood =  -348.2504  

Logistic regression                             Number of obs     =        581
                                                LR chi2(4)        =      71.34
                                                Prob > chi2       =     0.0000
Log likelihood =  -348.2504                     Pseudo R2         =     0.0929

------------------------------------------------------------------------------
        ZOMB |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]
-------------+----------------------------------------------------------------
        SIZE |  -.1188024   .0489237    -2.43   0.015    -.2146911   -.0229138
        TANG |   3.006602   .4127855     7.28   0.000     2.197557    3.815647
         AGE |   .1714694   .1704771     1.01   0.315    -.1626596    .5055984
      DIVERS |   -1.99751   .5598639    -3.57   0.000    -3.094823   -.9001965
       _cons |   .9549518   .9564802     1.00   0.318    -.9197148    2.829619
------------------------------------------------------------------------------

. 
end of do-file

. do "C:\Users\62819\AppData\Local\Temp\STD01000000.tmp"

. logit ZOMB SIZE TANG AGE DIVERS if KRISIS==1 & INTER==0

Iteration 0:   log likelihood = -231.81823  
Iteration 1:   log likelihood = -190.98456  
Iteration 2:   log likelihood = -190.11771  
Iteration 3:   log likelihood = -190.11506  
Iteration 4:   log likelihood = -190.11506  

Logistic regression                             Number of obs     =        360
                                                LR chi2(4)        =      83.41
                                                Prob > chi2       =     0.0000
Log likelihood = -190.11506                     Pseudo R2         =     0.1799

------------------------------------------------------------------------------
        ZOMB |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]
-------------+----------------------------------------------------------------
        SIZE |  -.2056701   .0691975    -2.97   0.003    -.3412948   -.0700455
        TANG |   4.345201   .5617289     7.74   0.000     3.244233     5.44617
         AGE |   .3113251   .2396704     1.30   0.194    -.1584202    .7810704
      DIVERS |   -1.95917   .7493971    -2.61   0.009    -3.427961   -.4903787
       _cons |   .7433688   1.262377     0.59   0.556    -1.730844    3.217581
------------------------------------------------------------------------------

. 
end of do-file

. do "C:\Users\62819\AppData\Local\Temp\STD01000000.tmp"

. logit ZOMB SIZE TANG AGE DIVERS if KRISIS==1 & INTER==1

Iteration 0:   log likelihood = -150.40233  
Iteration 1:   log likelihood = -145.37394  
Iteration 2:   log likelihood = -145.36279  
Iteration 3:   log likelihood = -145.36278  

Logistic regression                             Number of obs     =        221
                                                LR chi2(4)        =      10.08
                                                Prob > chi2       =     0.0391
Log likelihood = -145.36278                     Pseudo R2         =     0.0335

------------------------------------------------------------------------------
        ZOMB |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]
-------------+----------------------------------------------------------------
        SIZE |  -.0202046   .0727484    -0.28   0.781    -.1627888    .1223795
        TANG |   .6553064   .7203843     0.91   0.363    -.7566209    2.067234
         AGE |  -.4233812   .2932545    -1.44   0.149    -.9981496    .1513871
      DIVERS |  -2.235356   .8717412    -2.56   0.010    -3.943937   -.5267743
       _cons |   3.145066   1.655573     1.90   0.057    -.0997978    6.389929
------------------------------------------------------------------------------

. 
end of do-file

. do "C:\Users\62819\AppData\Local\Temp\STD01000000.tmp"

. ttest DIVERS if KRISIS==1, by(ZOMB)

Two-sample t test with equal variances
------------------------------------------------------------------------------
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval]
---------+--------------------------------------------------------------------
       0 |     364    .9703921    .0055156    .1052308    .9595456    .9812386
       1 |     217    .9242765    .0157775    .2324169    .8931789     .955374
---------+--------------------------------------------------------------------
combined |     581    .9531682    .0068856    .1659696    .9396445    .9666919
---------+--------------------------------------------------------------------
    diff |            .0461156    .0141171                .0183887    .0738425
------------------------------------------------------------------------------
    diff = mean(0) - mean(1)                                      t =   3.2667
Ho: diff = 0                                     degrees of freedom =      579

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0
 Pr(T < t) = 0.9994         Pr(|T| > |t|) = 0.0012          Pr(T > t) = 0.0006

. 
end of do-file

. do "C:\Users\62819\AppData\Local\Temp\STD01000000.tmp"

. ttest SIZE if KRISIS==1, by(ZOMB)

Two-sample t test with equal variances
------------------------------------------------------------------------------
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval]
---------+--------------------------------------------------------------------
       0 |     364    13.68208    .0977927    1.865765    13.48977    13.87439
       1 |     217    13.52061    .1361492    2.005603    13.25226    13.78896
---------+--------------------------------------------------------------------
combined |     581    13.62177    .0796161    1.919062     13.4654    13.77814
---------+--------------------------------------------------------------------
    diff |            .1614703    .1645927               -.1618013    .4847419
------------------------------------------------------------------------------
    diff = mean(0) - mean(1)                                      t =   0.9810
Ho: diff = 0                                     degrees of freedom =      579

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0
 Pr(T < t) = 0.8365         Pr(|T| > |t|) = 0.3270          Pr(T > t) = 0.1635

. 
end of do-file

. do "C:\Users\62819\AppData\Local\Temp\STD01000000.tmp"

. ttest TANG if KRISIS==1, by(ZOMB)

Two-sample t test with equal variances
------------------------------------------------------------------------------
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval]
---------+--------------------------------------------------------------------
       0 |     364    .4317769    .0118594    .2262636    .4084551    .4550987
       1 |     217    .5780032    .0163144    .2403259    .5458474     .610159
---------+--------------------------------------------------------------------
combined |     581    .4863915    .0100397    .2419968    .4666729    .5061102
---------+--------------------------------------------------------------------
    diff |           -.1462263    .0198639               -.1852404   -.1072123
------------------------------------------------------------------------------
    diff = mean(0) - mean(1)                                      t =  -7.3614
Ho: diff = 0                                     degrees of freedom =      579

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0
 Pr(T < t) = 0.0000         Pr(|T| > |t|) = 0.0000          Pr(T > t) = 1.0000

. 
end of do-file

. do "C:\Users\62819\AppData\Local\Temp\STD01000000.tmp"

. ttest AGE if KRISIS==1, by(ZOMB)

Two-sample t test with equal variances
------------------------------------------------------------------------------
   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval]
---------+--------------------------------------------------------------------
       0 |     364    3.080593    .0315933    .6027625    3.018464    3.142722
       1 |     217    3.081042    .0340873    .5021378    3.013855    3.148228
---------+--------------------------------------------------------------------
combined |     581    3.080761    .0235159    .5668256    3.034574    3.126947
---------+--------------------------------------------------------------------
    diff |           -.0004488    .0486555               -.0960115     .095114
------------------------------------------------------------------------------
    diff = mean(0) - mean(1)                                      t =  -0.0092
Ho: diff = 0                                     degrees of freedom =      579

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0
 Pr(T < t) = 0.4963         Pr(|T| > |t|) = 0.9926          Pr(T > t) = 0.5037

. 
end of do-file

.
